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Lt. 25 (MZE)
. LIZEX U0l .
2012t ‘5‘%":7@ Wtetg=s LRASE(50%) =4 ES
e At 04 Xt e At 04 Xt
S5EE | BHBAl ~ 59Al | BHISAI ~ B9l | BHI5AI ~ 59Al | BH15AI ~ 59Xl
79g | BH5Al ~ 59A1 | SHISAI ~ 59l | BHI5AI ~ 59A | BH15AI ~ 59Xl
109e | BH5Al ~ 59Al | BHISAI ~ 59l | BHI5AI ~ 59Al | BH15AI ~ 59Xl
158 | 2H5Al ~ 5941 | BHISAI ~ 59l | BH5AI ~ 59Al | BH15AI ~ 59Kl
208 | BHI5AI ~ 57l | BH15A1 ~ 59A | BHISAI ~ 54Al | BH5AI ~ 59l
Sl | 55AIE | BH15AI ~ 45Al | BH15AI ~ 45A1 | BHISAI ~ 45A1 | BH5AI ~ 45K | BE
60MIE | BHISAI ~ 50Al | BH15A1 ~ 50Al | BHISAI ~ 50Al | BH15AI ~ 50Al
6oMIE | BHISAI ~ 55Al | BH15AI ~ 55All | BHISAI ~ 55A1 | BH15AI ~ 55Al
70K | BHI5AI ~ 59Al | BH15AI ~ 59Al | BHISAI ~ 59A1 | BH5AI ~ 59l
75KIE | BHSAI ~ 59Al | BH15AI ~ 59A | BHISAI ~ 5241 | BH15AI ~ 59Al
80MIE | BHISAI ~ 51Al | BH15A1 ~ 59Al | BHISAI ~ 40Al | BH5AI ~ 59l
Ct. 3B (MEE)
Do L2 JHLH0l osz
SEI|2t g%l,:ja WAtets=s dRASE(50%) = e
=P\ 04 Kt =\, Of Xt
S5y | BHISAl ~ 59Al | BH15AI ~ 64Al | BHISAI ~ 57AI | BH15AI ~ 62Al
79y | BH5Al ~ 58Al | SHI5AI ~ 63Al | 2HI5Al ~ 55Al | BH15AI ~ 60Al
109e | BH5Al ~ 56A1 | BHI5AI ~ 62A1 | BHI5Al ~ 52Al | BH15A1 ~ 58All
158 | BH5Al ~ 631 | BHI5AI ~ 68Al | BHI5AI ~ 59Al | BH15AI ~ B64Al
208 | BHI5AI ~ 65Al | BH15AI ~ 70Al | BHISAI ~ 6241 | BH5AIl ~ 67 Al
Sl | 55AIE | BH15AI ~ 45Al | BH5AI ~ 45A1 | BHISAI ~ 45A1 | BH5AI ~ 45K | BE
60MIE | BHISAI ~ 50Al | BH15A1 ~ 50Al | BHISAI ~ 50Al | BH15AI ~ 50Al
6oMIE | BHISAI ~ 55Al | BH15AI ~ 55Al | BHISAI ~ 54Al | BH5AI ~ 55Kl
70K | BH15AI ~ 58Al | BH15AI ~ 60Al | BHISAI ~ 57Al | BH15A1 ~ 59Al
75KIE | BH5AI ~ 61Al | BH15A1 ~ 63A | BHISAI ~ 59A1 | BH5AI ~ 62Al
80MIE | BHSAI ~ 64Al | BH15A ~ 66Al | BHISAI ~ 62A1 | EH15Al ~ 64Al
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